Who certifies a Bill to be a Money Bill in India ?
a) Prime Minister
b) Speaker of the Lok Sabha

c) Finance Minister
d) President




Which one of the following is correct about the Supreme
Court regarding its judgement!?

a) Only the Chief Justice of India can change the judgement
b) It can change the judgement

c) It cannot change the judgement

d) Only the Ministry of Law can change the judgement.




Which of the following regarding the Rajya Sabha
is correct!?

It is not subject to dissolution.

It has a term of six years.

One-third of its members retire after every two
years.

Its members shall not be less than 25 years of age.
Select the correct answer using the codes given
below:

a) 2,3 and 4
b) | and 3
c) I,2and 3
d) 2and 4




The system of Judicial Review exists in
a) U.K. only

b) U.S.A. only

c) India only

d) India and U.S.A.




If the Prime Minister of India submits his resignation
to the President, it will mean the resignation of the :
a) Prime Minister, Cabinet Ministers and the Speaker
b) Entire Council of Ministers

c) Prime Minister only

d) Prime Minister and the Cabinet Ministers




All proceedings in the Supreme Court and in every
High Court will be in:

a) English

b) Hindi and English
c) Hindi

d) Hindi or English




If the President returns a Bill sent to him for his assent
and the Parliament once again passes the Bill in Its
original form, then the President:

a) can once again return the Bill for further
reconsideration

b) has to give assent to the Bill

c) can ask for a referendum on the Bill

d) can seek the opinion of the Supreme Court on the
bill




Which one among the following committees of the

Parliament of India has no members of the Rajya
Sabha!?

a) Estimates Committee
b) Public Accounts Committee
c) Public Undertakings Committee

d) Departmentally Related Standing Committee on
Finance




A Presidential Ordinance can remain in force
a) Indefinitely

b) For nine months

c) For three months

d) For six months




When the posts of both the President and the Vice
President are vacant who among the following
officiates as President?

a) The Prime Minister

b) The Speaker of Lok Sabha

c) The Chief Justice of Supreme Court

d) The Lt. Governor of Delhi




The power of the Supreme Court of India to decide
disputes between the centre and the states falls under its:
a) Appellate jurisdiction

b) original jurisdiction

c) Advisory jurisdiction

d) Constitutional jurisdiction




In which of the following houses the presiding officer is
not the member of that house?

a) Rajya Sabha

b) Legislative Assembly

c) Lok Sabha
d) Legislative council




Which of the following is not associated with
Parliament?

a) Dismiss

b) Dissolve

c) Prorogue

d) Adjournment




The only President of India who was elected
unopposed is :

a) Dr. S. Radhakrishnan

b) Neelam Sanjiva Reddy

c) Dr. Zakir Hussain

d) Fakhruddin Ali Ahmed




Which of the following statements about a Money Bill
is not correct!?

a) The President cannot return a Money Bill to the
Lok Sabha for reconsideration.

b) The Rajya Sabha must return a Money Bill passed by
the Lok Sabha and send it for consideration within |4
days.

c) A Money Bill can be tabled in either House of
Parliament.

d) The Speaker of Lok Sabha is the final authority to
decide whether a Bill is a Money Bill or not.




